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X = -2

Describe how to transform the graph of y = In x into the graph of the
given function. Sketch the graph by hand.

a) g(x)=In(x+2)+1

| l
L

]

T 3 .
1) Determine the vertical asymptotes

2} Determine the x-intercept

X==1.63

3) Determine the domain and range

4) Intervals of Increase or Decrease

5) Determine the end behavior

6) Intervals of Concavity

Q-5 +3)

b) hX)=l(-3)  f - (x-3)
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1) Determine the vertical .'t\{ympmtes

X=D

2) Determine the x-intercept

X=2

3) Determine the domain and range

D (~0y )

R: [‘0‘:0"3

4) Intervals of Increase or Decrease

DG C ( o ) }3
5) Determine the end behavior
ﬂ A B
X2 3

?-'r'\ Cc:-') = D2
X -0

6) Intervals of Concavity
Concsve Pown
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Describe how to transform the graph of y = ¥ x into the graph of the

Reflection given function. Sketch the graph by hand.
ovL v X—axiy a) g(x)=-3logx b) A(x)=log-x)-2
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1) Determine the vertical a%mtes 1) Determine lhh'erlical asymplotes

X=0 X=0O

2) Determine the x-intercepi 2) Determine the x-intercept
X= | (-100,0)
3) Determine the domain and range 3) Determine the domain and range

0: (o,%) D (-i,0)
n: ["’3"'1 “'\ 12 C"a‘a""\

4) Intervals of Increase or Decrease 4) Intervals of Increase or Decrease

Dec (2)) Dee (-07,0)
5) Determine the end behavior 5) Determine the end behavior
.P o) = Do j?.'n* Elx) =00 F:}b ﬁu] < 0O /F S {-l'f?‘)'

2 - —
X2 X20 X X»0  “[e
6) Intervals of Concavity 6) Intervals of Concavity
Contave wp CDJM) (Concave

(-7, ")
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€4S ey A0) = P (et 1) hix) = loy¢-») -2,

-4 O = R (x32) ¥\ 0 = log(x) -2
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Chapter 3: Exponential, Logistic, and Logarithmic Functions

3.4: Properties of Logarithmic Functions

What you'll Learn About

Use your Calculator to Determine which of the following are True.

1. log(5+2)=log5+log2

s

.log(5-2)=log5-log2

L

. log(5-2)=2log5

-l

. log(5%)=1log5-log5

=

.dn(x+2)=Inx+In2

11. log(5x)=log 5+logx

x) logx
log| — |=
e g(4) log4

15. n(x*)=Inx-Inx

2. log5-2)=log5+log2

4. 1og[§ J: log5—log2

(. oS
2) log2

8. log5)=2log5

10. log(7x)="7logx

12. ln(§]= Inx—In5

14. log,x’ =3log, x

1

=}

logl4x| = log 4 + log]x|
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